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Part A: Grammer

Direction: choose the words or phrases (1), (2), (3) or (4) that best completes cach sentence then mark
the correct choice on your answer sheet.

3- The sky is very cloudy. It ... to rain tonight.

1) is going 2) will go 3) goes 4) would go

4- Their dog is a ... shapherd.

1) brown big German 2) big brown German

3) German big brown 4) brown German big

5- Ali is ... Mehdi. They are both 27 years old.

1) older than 2) as old as 3) the oldest 4) more old dan

Part B: Vocabulary

Directions: Question 12 — 13 are incomplete sentences. Beneath each sentence you will see four words or
phrase. Markes (1, 2, 3 and 4)

Choose the one word or phrase that best complets the sentence, then mark the correct choice on your
answer sheet.

6- Today people's ..... has changed. They prefer fast food home made dishes.

1) Skill 2) Swimming 3) Smoking 4) depression

7- My teacher's voice was full of ... when he talked about war.

1) emotions 2) taste 3) feeling 4) art
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